X=95 ,04 Y,,=100,002Z,,=108 ,89 83 Xw=95 ,04 Y,,=100,00Z,,=108 ,89 B4
Xy=0 ,3127y,,=0 ,3290 X0 Xy=0 ,3127y,,=0 ,3290 140
Az=(ag-agp Y Ag=@s-a4nY
B3=(b3-bgp) Y 93 78 By=(g-0yp) Y
ag=ag [(x-0,171)/y] 5 1 ay=ay[(x-0,171)iy] + 93
b3=byg [(Mp1x+bp1)/y] / b4=byo [(Mp1x+bp1)/y] 3 U
ap0= 1, byg=-0,4 65 A, || 22071 o= -04 /"(—— 1
Mp;=—0,974 bp;=0 658 . . 3|l mpy=—0,169 bp,=0 ,389 | . . 4
Name and spectral range 34 Name and spectral range 5
Ry 561_770 Y, 520 770 Ry 561 770 Y, 520_770
Gm 475_573 G, 380_561 5 j Gm 475 573 G, 380_561 21 o1
Bm 380 520 M, 573 475 e Bm 380 520 M, 573 475
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yj=100
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40
chromaticity diagram (as, bs) chromaticity diagram (a4, bs)
eew31-5a E00 eew31-6a E00
Xw=95 ,04 Y,,=100 ,00Z,,=108 ,89 B, X=95 ,04 Y,,=100 ,00Z,,=108 ,89 B,
Xw=0,3127y,,=0 ,3290 X 40 Xy=0 ,3127y,,=0 ,3290 140
As=(@5-asp) Y As= (a5~ Y
Bs= (b5 —bs) Y 93 78 Bg=(bg — g ) Y 93 y8
a5 = a0 [(x-0 ,171)y] 2 1 ag = ag [x/y] + 41
b=y [(Mp1x+bp)/Y] b=z [(Mp1x+bp)/y]
a=1, byy=-0,4 65 A || 20= 1, byy=-0,4 65 A
Mp;=—0,974 bp;=0 ,658 . . 5 || mp;=-0,974 bp,=0 658 | . . 6
n = D65 —40 ' ' 40 || n = D65 —40 \]'\’ ' 40
Name and spectral range 34 Name and spectral range 34
Ry 561_770 ¥, 520_770 Ry 561_770 ¥, 520_770
G 475_573 G, 380_561 5 | G 475_573 G, 380_561 58 1
Bm 380_520 M, 573_475 o1 By, 380_520 M, 573_475 >
6 6
Ostwaldcolours (0) Y\y=100 Ostwaldcolours (0) Y\y=100
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40

chromaticity diagram (as, bs)

chromaticity diagram (ag, bg)

eew31-7a E00

eew31-8a EO0

eew31l-7n




